Minthogy
sin C' = sin(A + B)

azért
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2 2 2 2
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Tovabba sinA sinB sinC  sin Acos B + cos Asin B
tan A +tan B+ tan € = cosA ' cosB | cosC cos Acos B *
sinC sin(A+B) sinC  sinC sinC sinC(cos C' + cos A cos B)
+COSC "~ cosAcosB  cosC  cosAcosB @ cosC cos A cos B cosC

~ —sinC(cos(A+ B) —cos Acos B)  sinC'sin Asin B

cos A cos BcosC " cosAcos BcosC
= tan C'tan Atan B q.e.d.

(Pilczer Igndcz fogymn. VIII. o. t. Kaposvdr.)
A feladatot még megoldottak: Bolemann Béla, Budapest; ifj. Berznyik Jdanos, Selmeczbdnya; Engel Richdrd, Gydr;
Grossmann Gusztiv, Budapest; Heymann Tivadar, Gyér; ifj. Imre Janos, Nyiregyhdza; Jankovich Gyérgy, Losoncz;
Meitner Elemér, Budapest; Schulhof Gdbor, Pécs; Szabo Gusztdv, Gydr.



